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M.Sc. DEGREE EXAMINATION, NOVEMBER 2016.
I YEAR — II SEMESTER

Non-Major Elective I — QUANTITATIVE APTITUDE
Time : 3 hours 
    Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Find L.C.M And H.C.F of 24,36,48.
2. Calculate 12/3*6+45-16.
3. A house wife saved `5/- in an item on sale. She paid `55/- for the item. What is the percent saving in the transaction?

4. If the Cost Price of 125 pens equals the Selling Price of 90 pens, what is the gain percentage?

5. A man and woman can do a job in 10 days. The man alone can do in 16 days. How much time does the woman take to do the job alone?

6. X,Y,Z take 24, 12 and 6 days separately to complete a work.  Together how much time do they take?

7. A cyclist covers a distance of 320 kms in 2 mins 40 secs. What is the speed of the cyclist in kmph?

8. A car mocing at a speed of 99 kmph can reach the destination at 550 km in what time?

9. Define Tabulation.

10. A person jogging early morning crosses a 1350m long street in 9 mins. What is the speed in kmph?

11. X completes typing of a certain number of pages in 10 days. B takes half of this time. In one day if both are engaged, how much work is completed?

12. Define Factorization method. 

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. When a number is divided by 19 the remainder is 17. When the number is divided by 23 the remainder is 15. What is the number?
14. A salesman gets 10% commission upto  `10,000 and 8% on the sales exceeding this. After deducting his commission he remits `40000 the company. What are the total sales in that year?

15. P can complete a job in 30 days. (Q+R) can complete in 20 days. P and R in 15 days. How long does Q take to complete the job alone?

16. A sprinter runs at the speed of 24 km/h and walks back at the speed of 4 km/h. What total time did he take to go to and far, a total distance of 1200m?

17. Find the approximate value of 25 × 0.66 × 0.50 × 0.19 × 0.625 × 0.75.
18. Applied to a bill of `10,000 the difference between a discount of 30% and two successive discounts of 25% and 5% is  _______.
19. What time does a boy take to complete a run around a circular path with radius 7m if his speed is 10 km/h?
SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions
20. The sum of two numbers is 396. Their H.C.F is 11. What are the numbers?

21. By selling 48m of cloth, one gains the selling price of 16m. What is the percentage of gain?

22. P can do a work in the same time as Q and R. (P+Q) can do the same in 12 days. R alone does in 60 days. In how many days can Q do it alone?

23. A race car starts with a speed of 80 kmph and increases its speed at the end of every hour by 10 kmph. In how many hours does it cover 600 km?

24. The table gives the percentage distribution of population of five states A,B,C,D,E literacy and gender. 
	State
	Percentage of illiterate population
	Population of males and females

	
	
	Illiterate  M:F
	Literate M:F

	A
	90
	5:10
	9:6

	B
	80
	2:3
	5:3

	C
	60
	1:3
	7:3

	D
	30
	1:4
	3:2

	E
	20
	1:4
	2:1


a) Population of state A is 6 million. What is the number of female who are literate?
b) If the population who are literate is 4 million in state B, What is its total population?
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